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Jor the questions

1. oo AR Rotrpi Tew o - 1x8=8 -
Answer the following as directed :

(@) SREFT TeAOR @B e

|
Scarcity definition of economics deals
with
(i) =N SeRI
unlimited wants
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(ii) FTPRRY TRAIFTSR
scarcity of means
(i) 3 Rew IR

alternative uses of means

fiv) T ORI
All of the above
( wm Teachr AR Tforear )

( Choose the correct answer )

mwmwﬁﬁﬁwaﬁmw
TEs

Mention one difference between micro-
economics and macroeconomics.

wfEre sk &2

What is composite demand?

WW@WWWI

Mention one exception of the law of
demand.

X7 9F Y &g MW T Rege =, o®

For perfect complementarity between
two goods X and Y

i) MRSyy 0 T3
MRS yy will be zero

( Continued )
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(i) MRSyy % T3
MRSy will be zero
(i) MRSyy WIF MRSyy TaIO! ELAS
both MRSy and MRSy will be zero
(iv) /T dore 7=
None of the above .
( u7 T3t IR %ﬁw )
( Choose the correct answer )
s 9 &2
What is social cost?

Al qaeofom &2
What is natural monopoly?

ﬂm@wwm°fﬂfémﬁm@,
cefea '

When there is imperfect competition in
the factor market, then

(i VMP = MRP

(i) VMP >MRP

(i) VMP < MRP

(iv) T oIS T/
None of the above

( om Yo AR TRtear )

( Choose the correct answer )
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wﬁmmﬁmqmmwﬁm Seo *Rd %3l / Or
foese) : - 4x4=16 b) SERT R B wfARE wRT THRT

Write short notes on any four of the following fErEz o oo A Wi @
(within 150 words each) : , ) ?ﬁ? AR, %”l{@ THRATR Y& | ~
= 2+3+6=11
(a) ‘M AT T What is an economic model? Write the
L1m1tat10ns of microeconomics general features of an economic model.
‘ : Discuss how you can develop an
(b) I economic model by taking a suitable
— . example.
ontrols on prices :
4. (a) zﬁmw&mw mﬂﬁﬁmqw’@m
(¢ N @A . R 7 ToR 1 e oS e R erer
Envelope curve CRR, (RS 6+3+3=12
What are the factors that determine
(d) s ARTHS - individual demand and supply? Analyze
. the effect of the following on market
Budget constraints price :
(¢) ¥ WA oF IR A . ¥ R o
‘Labour market and public policy When changes in demand are higher
' than changes in supply
o fiedl epeprRd e fordt (2Tt @ oo e foee) : (i) T=iRFS TR TR ARG

. . Changes in price of related goods
Answer the following questions (within 500 words '

each) : ' . s/ or
4 b) R W Rwere, ww wewe e
3. (@ I IERT REER AR IF eFR e RiSTre R/ IM TN | qoH
R e F40 6+5=11 @Re M e W RREEY e
Explain the scope and importance of R 71 W2 oW e Far azre

microeconomic analysis. LIECE R QWW & it o= 912
: 6+3+3=12
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5. (a)

(b)
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Explain the concepts of price elasticity,
income elasticity and cross elasticity of

_demand. How is the price elasticity of
“demand measured on a linear demand

curve? What role does price elasticity of
demand play in decision making by
firm? . 4

oo orel 7 SoereR  omwer
SfSYRACIRYT o741 | Feer® ¥R wizEe «oe
Torere] (AT SR AS FCI, AR A

| 2+3+6=11

What are consumer preferences? Write

the assumptions of  consumer
preferences. Explain how a consumer
attains equilibrium with the help of
indifference curve.

57/ Or
T e W ofcew R R oo
MIFRR TorreTeR SR €[S @ JSR
CoRIE, T <90 : 5+6=11

What are income effect and substitution
effect? Explain the effect of the following
on consumer’s equilibrium :

(i) e’ wE 3%
Increase in consumer’s income
i) Y TR W GF 471 [EE X WA

Increase in price of good X while the
price of good Y remains constant

( Continued )

6. (a)

(b)

7. (a)
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e Wi foafe W wile
ReUforrE IR M1 SeowE il
v AT & do) iR ? 4+4+3=11

Explain with examples the economies
and diseconomies of scale. How do
economies and diseconomies of scale
determine the slope of the LAC curve?

o431/ Or
A 2 avm AR Trerre B R
Rt TR Rcafros 3= a8 o4f afc
IERO @G SETR] oS I, P’ (e |
2+2+7=11

What is a firm? What are the objectives
of a firm? Explain with diagram, how a
firm attains equilibrium in a perfectly
competitive market under different cost
conditions.

Teor BAmER BeemRieel I & @2
o AN IS T o (T AT
A W, A I TR ol @
TABY IR T FRG STy F 2+7+2=11
What do you mean by productivity of an
input? Explain the derivation of input
demand curve under perfect market.

- Mention two factors that cause a shift in

input demand curve.

( Turn Over )



(8)

YY1/ Or

() () IR I EF AW T AR T
|1 2+2=4
Mention the features of land market
and labour market.

(i) of AN TES >FE WA ©FT
CPCMCT e 1, IR F901 7

Explain how equilibrium is attained
in labour market under perfect
competition.
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